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N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 3/1

log AL luminance difference
threshold; AL=L -

TE200-1N_3

L/AL luminance contrast
sensitivity threshold

. Xy Lg=60cd/im?
A 0,390,41LI0,4s A

30+ equation

407

20T

10--

log AL luminance difference
threshold; AL=L -
T X Lg=60cd/n?
A 0,39 0,41LI10,4s A
equation

TE200-5N_3

L/AL luminance contrast

sensitivity threshold 3

X Lg=60cd/./? &
A0,390,41LI04sA
304 equatior

407

20T

TE200-7N

TUB-test chart TE20; Colour threshold experiments
Lingelbach tp=0,4s, scaling data CIELAB, sSRGB_w & _[p

ps
.

- X y  Lg=60cd/in? -
A0390,41LI04sA ‘.
1l equation /
ol

200

1501

100¢

501

log L/AL luminance contrast

sensitivity threshold

r Lg=60cd/n?
LI 0,4s A —e—
L equation “x oy
4 0,39 0,41

25

TE200-2N_3

T* Amount of

threshold steps
- Xy Lg=60cd/in?
A 0,390,41L10,4s A
equation

0,

=8 =2

TE200-4N_3

log L/AL luminance contrast

sensitivity threshold
+ Lg=60cd/n?

LI 0,45 A
L equation

TE200-6N_3

T* Amount of
threshold steps

200r

1501

100¢

X Lg=60cd/n?
A 0,390,41L10,4s A
equation

TE200-8N_3

log AL luminance difference
threshold; AL= L -

- X Lg=60cd/n?
A 0,39 0,41L10,4s A
equation

TE201-1N_3
L/AL luminance contrast
sensitivity threshold
y  Lg=60cd n?

407 X
A 0,390,41L104s A

,
z

¢
’
’
e
e
-
e
.

30T

201

101

equatior

log AL luminance difference

threshol

d; AL=L -

Lq=60cd/n?

. X
A 0,390,41LI0,4s A

equation

TE201-5N_3

L/AL luminance contra:st
sensitivity threshold

40

30T

201

101

Lg=60cd/n? ;'

3 X
A039041LI0A4sA !

egiiation

input: w/rgb/cmyk —> rgky

v

log L/AL luminance contrast
sensitivity threshold
Lg=60cd/n?
L1 0,45 A

/ ; v
’ A 0,39 0,41

threshold steps
X y  Lg=60cd/in?
A 0,390,41LI10,4s A
equation

log L/AL luminance contrast
sensitivity threshold
r Lg=60cd/n?
L1 0,4s A
1 equation =

>

z
7 A

X
0,39 9,

T* Amount of

threshold steps
X Lg=60cri/m?
A 0,39 0,41 LI 0,4s /A
equation

41

oidde
Sd’/ LX1'VN010231/023L-TOZ0ETOZ :uonensibal gn L

uonesedas ou ndiNo AejdsIp JO UBWaINSeal 10} UoNedl




